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Q1 — (100 Marks)

J

A'I"CO ple acquired 79% of ENMAX plc’s share capital at | January 2009. The balance on
ENMAX ple’s retained camnings at that date was $2,000 and share capital $3,000. ENMAX has
notissued any shares since that date. The following information is also relevant:

~ A- Inarriving at the consideration for the shares in ENMAX, the fair value of ENMAX's

property, plant and equipment was agreed at $300 below the book value -10 years
remaining life. oV

During the current year 2010, ENMAX ple sold inventory to ATCO ple for $ 1,000 after
amark-up of 30%. By 31 December 2010, 80° of these goods were sold by the ATCO.
7 C- Goodwill was impaired by $1,500 during the year 2010.

AU1 January 2010, the ATCO ple sold a depreciable plant asset to ENMAX ple for
$10,000. This asset was purchased by the ATCO at 1 January 2005 for $ 10,000 and was
depreciated using the straight-line method over its 10 years useful life and zero residual
value. After the sale. the plant asset is depreciated by ENMAX ple using the straight-line
method over its remaining useful life of 5 years.

ENMANX ple accounts receivable at 31 December 2010 include a $300 due from ATCO
ple.

~ B-

Non-controlling interests are valued at their proportionate share of the fair value
identifiable net assets acquired.

The statements of financial position for the two companies were as follows as at 31 December

2010
ATCO§ ENMAX §
Non-Current Assets
Plant property and Equipment | 13,460 8,000
Investment in ENMAX plc at | 9,500
cost
Current Assets
Inventory 1,800 670
Accounts Receivable 2,000 750
Cash 450 3
Total Assets 27,210 420
Current Liabilities
Accounts payable 1,210 2,420
Equity
Share Capital 10,000 3,000
Retained Earnings 16,000 4,000
Total Liabilities and Equity | 27,210 9420
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Answer sheet Q1:

I- The fair value of net assets of ENMAX plc at the acquisition date at 1 January 2009 is:
(Show calculations)
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The share of Non- -controlling interests in the net assets of ENMAX plc at the acquisition
date at 1 January 2009 is: (Show calculations)
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Goodwill arising on acquisition at | January 2009 is: (Show calculations)
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The amount of unrealized profit in relation to the sale of merchandise inventory from
ENMAX ple to ATCO ple (identified in part B) is:
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% 5- The worksheet journals entries that should be recognized in relation to the sale of the
depreciable plant asset identified in part D are
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6 -The consolidated statements of financial position of the ATCO grou
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EXTRA CREDIT / BONUS

Q2: (5 Marks)

Parent sells inventory to subsidiary at a cost of ,000 plus 50% mark-up. At year end one-
third of this remains unsold. The parent owns 100% of the subsidiary.
The amount of unrealized profit in relation to the sale of merchandise inventory is:

- $50,000 l
- $70,000 U

C -$150,000

D -$ 100,000
g@f None of the above
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